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Goal for today: Compute the volume of solids of revolution via a disk
method.



The dig)
methog (for rotating about the z-axis).

Idea: A :
PProximate the volume of the solid by thin disks:
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As Az gets smaller and smaller, the approximation gets better and better.

Tn the limit of this process, Az becomes dz and ) becomes [. So we

obtain: _ ,/_p":\\
T .




r )
eglon enclosed by the curve y = 3z — z? and the z-axis about the z-axis.
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Exercise 2. Compute the volume of the solid obtained by rotating the
region enclosed by the linesz +y =5,y =0and z =0 about the z-axis.
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Ex:erciese 1. Compute the volume of the solid obtained by rotating the
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clo‘ “Mpute the volume of the solid obtained by rotating th?
;’:ﬁ by the Gurves y = see(s),y = 0,z = /6 and z = /3
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Exercise 4. Com

region enclosed by
y-axis.
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